Amana DA6121 12 - CONTROL PANEL, CONTROL HOOD & CONTROLS

4

—
L

12*'“7}

13

17

Although those Emen
differ in appearancs,

fhay are completely
Interchangeable when
ldeniified by the same

port namber.

6

Amana Residential Amana DA6121 Washer Parts Parts Diagram 12 - CONTROL PANEL, CONTROL HOOD &

© 0 N O O b~ W N -

-
o

N
N

12
13
14
15

23392
23402
24205
25124
25126
26165
24392
91176
21302
25232

25123

24858
25285
24857
70212

CONTROLS
Click on the part number to view part

Not Available
Not Available

Not Available
5303284616

Not Available

Not Available

Not Available
Not Available

Not Available
Not Available
Not Available

CLIP FOR 26816 KNOB
KNOB,CONTROL

Nut, Knurled 3/8-24
CONTROL HOOD END, LEFT
Clip

CONTROL PANEL

SWITCH TEMP

Lockwasher, 3/8 Intshkp
Switch, Motor-2SP
SCREW,8AB-18X7/8 OVAL

CONTROL HOOD END,
RIGHT

ASSY,KNOB-TIMER
SETSCREW
INDICATOR

Screw, 8-32 X 5/32 RD H


http://www.pwslaundry.com/c-501885-residential-amana-da6121-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10394112-amana-24205-washer-dryer-nut-knurled-3-8-24.html
http://www.pwslaundry.com/i-10396664-amana-5303284616-washer-dryer-clip.html
http://www.pwslaundry.com/i-10394109-amana-91176-washer-dryer-lockwasher-3-8-intshkp.html
http://www.pwslaundry.com/i-10394003-amana-21302-washer-switch-motor-2sp.html
http://www.pwslaundry.com/i-10394004-amana-70212-washer-dryer-screw-8-32-x-5-32-rd-h.html

'Y00000000 ilabl

laundry company*

laundry company*

laundry company*



	Amana DA6121 12 - CONTROL PANEL, CONTROL HOOD & CONTROLS

